
- Parts list -

Image ID: drawing_PV000.002.683.836_version_002

Item Part number Designation/additional information Qty

15 A 213 540 16 27



* ELECTRICAL WIRING HARNESS

Left

 Code: (M276/M256+M016+M005);

1

10 A 213 905 20 09



ROTATIONAL SPEED SENSOR

Right

 [004050] INCLUDING BRAKE PAD WEAR WIRING HARNESS

 Code: (M256/M276)+M016+M005;

 Determine damage code

1

15 A 213 540 22 69



* ELECTRICAL WIRING HARNESS

Right

 [402] NO LONGER AVAILABLE

 Code: M256+M016+M005;

1

10 A 213 905 18 05 ROTATIONAL SPEED SENSOR

Left

 Code: (M256/M276)+M016+M005;

 Determine damage code

1

30 N 000000 007701 HEXALOBULAR BOLT

SPEED SENSOR TO STEERING KNUCKLE LEFT; M6X20

1

Vehicle WDD2132611A690115 (C213_FS) Mercedes-AMG E 53 4MATIC+ Wagon

Color 799 - designo diamond white bright Equipment 861 - black

Assortment class PC Group 54 Electrical equipment and

instruments

Sub-group 679 Front axle wiring

© Copyright 2023

Mercedes-Benz A
G

XENTRY Parts Information

© Copyright 2023 Mercedes-Benz AG



Item Part number Designation/additional information Qty

30 N 000000 007701 HEXALOBULAR BOLT

SPEED SENSOR TO STEERING KNUCKLE RIGHT; M6X20

1

50 A 213 540 19 13 ELECTRICAL WIRING HARNESS

DAMPER ADJUSTMENT, FRONT AXLE AT LEFT

 Code: M005+(459/489);

1

50 A 213 540 20 13 ELECTRICAL WIRING HARNESS

DAMPER ADJUSTMENT, FRONT AXLE AT RIGHT

 Code: M005+(459/489);

1

100 A 205 546 79 80 CABLE DUCT

FRONT AXLE,LEFT

 Code: M005;

1

100 A 205 546 78 80 CABLE DUCT

FRONT AXLE,RIGHT

 Code: M005;

1

105 A 003 546 62 43 LINE BRACKET

FRONT AXLE,LEFT

 Code: M005;

1

105 A 003 546 62 43 LINE BRACKET

FRONT AXLE,RIGHT

 Code: M005;

1

110 A 205 546 81 80 CABLE DUCT

FRONT AXLE,LEFT

 Code: (M256/M276)+M30+M016+M005+489;

1

110 A 205 546 80 80 CABLE DUCT

FRONT AXLE,RIGHT

 Code: (M256/M276)+M30+M016+M005+489;

1

120 A 213 546 12 00 LINE BRACKET

TO RIGHT STEERING KNUCKLE, FRONT AXLE

1

130 A 205 546 15 00



CABLE DUCT

TO LEFT STEERING KNUCKLE, FRONT AXLE

 Code: M256+M30+M016+M005;

1

130 A 205 546 14 00 CABLE DUCT

TO RIGHT STEERING KNUCKLE, FRONT AXLE

 Code: (M256/M276)+M30+M016+M005;

1

140 N 000000 007701 HEXALOBULAR BOLT

TO LEFT STEERING KNUCKLE, FRONT AXLE; M6X20

 Code: M005;

2

140 N 000000 007701 HEXALOBULAR BOLT

TO RIGHT STEERING KNUCKLE, FRONT AXLE; M6X20

 Code: M005;

2

210 N 910143 006002 HEXALOBULAR BOLT

WIRING HARN. TO STEERING KNUCKLE RIGHT; M6X20

1

XENTRY Parts Information

© Copyright 2023 Mercedes-Benz AG


